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Sociology

Paper II

HHISTIMTE
QoateRt 11

Time Allowed : 120 Minutes]
: This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U 3TRA. W UEA dredl

: I YETUAR TS THU TN (100) TgIART Y9 ol sed. Yoo WeAen g (2)

Whose work among the following
focussed on the “household dimension”
of the family ?

(A) Pauline Kolenda
(B) S.C. Dube

(C) K.M. Kapadia
(D) A.M. Shah

How ‘Forest Rights Act 2006’
defines ‘Bonafide Livelihood Needs’
of tribals ?

(A) Fulfillment of livelihood needs
of kinship groups

(B) Fulfillment of livelihood needs
of self and family

(C) Fulfillment of livelihood needs

and market needs

(D) Fulfillment of basic needs of all
tribal groups

TCATCTUsh! IV hTH Tl “SRER
9" = Hga R ?

(A) difer wlere

(B) TH. . Td

(C) . TA. wuifea

D) T T WE

‘g TR hIAGT, 2006 HEY * SmfcarrE
ardfaer SUSiiferehT TS’ Ry feifia

ehell e ?

(A) SATTHHETAT ISR TSI Gl

(B) a:=A1 M0 Shgarea IuSifae
<
(C) SuStiferent STfUT SR TRST= Gefal

(D) §e STfCaTHEHEr=a qaAyd TSt
Bl

[P.T.O.



Match List I with List IT and select
the correct answer from the codes
given below :

List I (Thinkers)
(@) Vandana Shiva
(b) Flavia Agnes
(c) Bina Agarwal
(d) Renana Jhabvala

List II (Issues)
(1) Gender and Law
(2) Women and Work
(3) Eco-feminism
(4) Gender and Land Rights
Codes :

(@ B) () (@
@A @O @2 @ @
B @ B @ @
e 3 1 @ @
D 2 @ @O O3

Who is the author of the book “The
God Market : How globalization is
making India more Hindu” ?

(A) Devdutt Pattanaik
(B) Karen Armstrong
(C) Austin Neill

(D) Meera Nanda

3.
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A 1 A A I = Sed o

ST @rett foeted Hehdmehr g A I

IREEINE

Tt 1 (foemaa)
(@) @1 firan
(b) AT g
(c) I TREmA
(d) T rearer

RIEUN | )

(1) fammamE enfor s
(2) Tern swfor s
(3) TEERNT SR
(4) fammaE onfn SHE g6
Hehdieh :

(@ b)) () @
A @O @2 6 @
B @ 3 @ @
€ 3 @1 @ ©2
D 2 @ @O O3

T TiTE AIohe : B TATAIEIN 351 HichT
sfea AR Q" o1 gk @ &
3ed ?

(A) 3I"A TARH
(B) HRA ITHRIT
(C) aAffees i
(D) ¥ ==




According to which sociologist,
‘rituals are sacred acts which
represent the religious beliefs’ ?

(A) Max Weber

(B) Emile Durkheim
(C) Edward Tylor
(D) Gerhard Lenski

The Dispersion of the Indians
beyond India is an example of :

(A) Diaspora
(B) Culture
(C) Habitus
(D) Network

Which one of the following is not
used as a measure of Gender
Related Development Index ?

(A) Life expectancy at birth
(B) Adult literacy rate

(C) Earned income

(D) Participation in work-force

Possession of attributes, like human
nature, agency, self-awareness
among other is defined as :

(A) Personhood
(B) Personality
(C) Embodiment
(D) Entitlement

JUN - 14220/1I—A

IV FHTSTITESTRITAT 7, ¢ I 41 ST
qfest foran sTeaTa i o enfHer fasaam
gfarrea sa’ ?

(A) HHH T

(B) sffer e
(C) TEaE TFTR
(D) TRETE o &hl

YA 9RAeed T80T 800 § HIma
IR0 AR ?

(A) TRIRY AR
(B) HEpdt

(C) &feed

(D) S

WeATAUh! I Tee famnyme favges
ey HisHg e ?

(A) SFHTATG STHUR STUfEd STHAT
(B) YT HaRdl X

(C) THesaA 3ca=
(D) FUIEIAIA GeqrT

et TS, S qul, 3TcH SRRl 1107
TAX T[0T B0 A K FUA 2

(A) R
(B) e
(C) =&y

(D) @oFh

[P.T.O.



10.

11.

12.

Human Development Index (HDI)
measures the level of development
amongst various countries includes
the following set of indicators. Mark
the right answer :

(A) Health, Education and Income
(B) Freedom, equality and fraternity
(C) Equity, social justice and liberty
(D) Openness, freedom and equality

Which of the following is not the
characteristic of bureaucracy
according to Weber ?

(A) Specialization
(B) Flexibility
(C) Impersonality
(D) Hierarchy

Social networks can be described
as :

(A) Set of nodes and a set of ties
that connect some or all of these
nodes

(B) Social groups with defined

boundaries

(&)

Connections among individuals
overtime which result in social

bonds
(D) Informal organizations

Elite theory of power is developed
by :

(A) Pareto V.
(B) Parsons T.
(C) Engels F.
(D) Miliband R.

10.

11.

12.
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WeATcAUeh! shIod feverT™ seen fafay

e foehTar=a e HisHTd Ja
faerrd fdsmeRa (HDI) shiad ?

(A) =, fagor sfor Scq=
(B) WA, HHMA ST S

(C) 9HdT, |HIfSIeR =ma i Wrd=a

(D) Hiehoqon, T AT AT

AR, TTATAIRT HITAT FH

e afyreT @ ?

(A) TarsieRor

(B) wdfaehdn

(O REERIESENI

(D) IRE

g TS (Social Networks)

BN :

(A) Tefi=n ¥ ity e 9, S
el fohdl Td ek ThHHIN S
NIGIGE

(B) fAfy=a 91 19cial |mHIfSes e

(C) el 3™ HaY S e
TrIfSies SuAMed gfidfda gan.

(D) =T Hee




13.

14.

15.

16.

Which of the following statements
is not true about a custom ?

(A)
(B) It is specific and clear

(C) It emerges spontaneously
without any direction

Custom is flexible

(D) It needs a specialized institution

for enforcement

In Sociology ............ comprises the
social assets of a person (education,
intellect, style of speech etc.) that
promote social mobility in society.

(A) Cultural capital

(B) Professional capital

(C) Economic capital

(D) Symbolic capital

Symmetrical family refers to ..........

(A) Family transforms from joint to
Nuclear family

(B) Men are taking up family

responsibility

(C) Overtime, families becoming
more egaliterian in the
distribution of roles and

responsibilities

(D) Only women still continue to

bear family responsibility

In which census year data for slum
was collected for the first time in
India ?

(A) 1991
(B) 1981
(C) 2001
(D) 2011

13.

14.

15.

16.
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@eileldeh] ShIUd fa&™ Gor=a sedid

g AT ?
(A) 9T &I Adraeh 3Ted
(B) e fafyrse sqfor wase srqand

(®) g%ﬁnma—«mg—cfaﬁﬂﬁ?u@aﬁ

(D) YT IAATSAVTEST T FE=

HHISTITET G| TiqHaTe aretT
1| I [eY HKIAT HTHTISTeR
HrerHrEn (a0, igH, siervarE! ggd
T.) HHEY Bl

(A) TERfds giedd

(B) H&HIiTes viedd

(C) enfefer wigaa

(D) Hichfdesh wigerel

T g 5 oo

(A) e ThA Tgdlched hedlhe
REZL

(B) U%Y FHeand SEeRRal SRR

TR

(C) FHeadial Semegral 3 yfynr
foraur FHaTene! Bid TR

(D) Aieara STS[El HIEfaeh SAEEE
TR TS 3ed

qRATA ShIVICAT STTOHT FoTA dfgeaal

Sqeued! TRt Aifed! Hehfald oA

et ?

(A) 1991

(B) 1981

(C) 2001

(D) 2011

[P.T.O.



17.

18.

Denotified tribes are also known
AS e .

(A) Weavers

(B) Ex-criminal tribes
(C) Untouchables

(D) Scheduled tribes

Match List I with List IT and select
the correct answer from the codes
given below :

List I (Authors)
(@) Patricia Uberoi
(b) Karuna Chanana
(c) Pauline Kolenda
(d) Leela Dube

List II (Books)
(1) Women and Kinship

(2) Regional Differences in Family
Structure in India

(3) Interrogating Women’s

Education

(4) Family, Kinship and Marriage
in India

Codes :

(@ b)) (© ()
A D @ & @
B @ B @ @
© 3 1 @ @
M 2 @ @ @O

17.

18.
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ﬁ'ﬂaﬁ e i B
eaBedl ST

(A) ferorert

(B) TatsH= TR St
(C) 3TE9y

(D) SAIgfad SHEwt
AT 1 7 AT 11 Wit Seshi= st
Soeell o AT feied HehdieRIqd a1

T freer -
Tt 1 (i)

(@) USReT e

(b) HTA <A

(c) die et

(d) faen ga

et
g
ql
§7
1
A4
=
=

(1) TIHA

(2) e fewag 37 ®idel =R
T gfea

(3) T faiw TgHRIH

(4) hfhed, TRy st W& 39 sfean

Hehdieh :
(@ b)) @ @

A @O @ 6 @

B) @ G @ @

€ 3 O @ 2

D 2 @ @O G




19.

20.

21.

22.

Widowhood reflects a structure of
control over all aspects of woman’s
life including her sexuality. Whose
views are these ?

(A) Maitrayee Chaudhuri
(B) Karuna Chanana
(C) Martha A. Chen

(D) Veena Das

Which project has been initiated by
the Government of India for creating
a cloud computing environment at
National level ?

(A) e-Bharat

(B) Megh Raj
(C) Project Arrow
(D) e-Kranti

Which one of the following cities has
moved from colonial notions of
“pensioners’ paradise” to the

globalisation driven “silicon valley
of India” ?

(A) Hyderabad
(B) Bengaluru
(C) Pune

(D) Dehradun

Which view focuses on society as
fundamentally a “patriarchy in
which men dominate and oppress
women” ?

(A) Post-structural feminism
(B) Feminist existentialism
(C) Liberal-feminism

(D) Radical-feminism

19.

20.

21.

22.
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ayed fEEmeEl oTefll W= gfaa
&1 = <ifiteRd 98 W= ST

T A9 SO 3. § fO=R &
AR ?

(A) Tt e
(B) &N =
(C) et T ==
(D) =fon <™

T Uil FAS e Hhirefer Geuid
AR TIR HITIERT YR TLhRA
N N

HIUAT Yohed TR ohell 3R 7

(A) 3-9Ra
(B) HeUS
(C) Ted 3
(D) -

Qe ShivNd ITeX & STEdeNa] SRR
‘frgwi= dcTad’ 4 SATIfdeh iU
ST * Raret e el A
sleEel S ?

(A) TTEE
(B) STe&
(C) g

(D) <EH

TITATTshT 10T Gioshivl Hefd: ‘ FHTS
1 Jeviieh ST Ao fereier areied 3ol
afur fumgupss *Idl’ ATIX YT
TeRal ?

(A) SR FEAERT SidR
(B) stfEdcac! Siere

(C) ERHAAE] Siare

(D) SR SaR

[P.T.O.



23.

24.

25.

Match List I with List II and select
the correct answer from the codes
given below :

List I (Thinkers)
S.C. Dube
S.C. Roy
D.N. Majumdar
V. Elwin
List II (Tribes)
Khasa
Baiga
Munda

Kamar

(@)
)
(c)
(d)

(1)
(2)
3)
4)
Codes :

(a)
(A) (4)
(B) 3)
e @ 3 @O @
DO O @2 3 @

In elementary structures of kinship,
the alliance is based upon :

(b)
3)
(2)

(c)
(1)
4)

(d)
(2)
(1)

(A) Rules of exogamy

(B) Positive marriage rules
(C) Negative marriage rules
(D) Generalized exchange

Oriental despotism is the feature
of :

(A) Asiatic Mode of Production
(B) Feudal Mode of Production
(C) Primitive Mode of Production
(D) Ancient Mode of Production

23.

24.

25.
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et 1 31TFUT?FIE°[ 1T mﬁa udchlwl GIIS?JI

Sloodl o AT IQQ’IQ’*’-H {‘IOI')CIIGI')IC,L"I e

e feer

Tt 1 (foemda)
. §. g
TH. 9. W

. T AHR
. e
It 11 (SHTe)

(@)
)
(c)
d)

(1)
(2) am
(3) He
(4) HHER
Hehdieh :
(@)
(A) @)
B) 3)
€ 2 B @O @
D) 1) 2 @) @

TGS T MU TEd Il & HIeR
HRd o 8d ?

(A) afgfdarm f=m

(B) foomem dercas fom
(C) foomem Feras fom
(D) "m=iga faf=

T
(A) TR SaRd g5l
(B) TSR 3cqe UGl
(C) oTfcd 3IcareA dgat

(D) YA 3cAeT TGl

(b)
3)
(2)

(c)
(1)
4)

(d)
(2)
(1)

10
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26. Who is the author of the book “The | 26. “T s = dce A% don AT THHM
Brave New World of Work” ? oTEh HIU 3Med 7
(A) Al’lthOl’ly Giddens ( A) 3;‘{'9;{;13[ ﬁm
o o o
e Peek (C) 3= 3%
(D) Pierre Bourdieu .
27. Which economic system is based on D) 1 Ei .
market exchange principle ? 27. IV 3Tk SHIE AR fo 9 dxamer
(A) Primitive economies STRT e ?
(B) Modern economies (A) 7feH stefezreren
(C) Rural economies (B) 3MYfTeh teferaeen
(D) Small economies (C) TTHUT STefeereen
28. The Rights of Persons with e TefeaEen
Disabilities Act in India was passed ) R jﬂ . . ~
in which year ? 28. YRATAIA TIheil T Fekdld gh [0 Th
(A) 2007 nlHQl ahoﬁl AHA Sl ?
(B) 2011 (A) 2007
(C) 2013 (B) 2011
(D) 2016 (C) 2013
29. Given below are two statements, one
is labelled as Assertion (A) and the (D) 2016
other as Reason (R) : 29. w@reht g1 faum foolt emed. @mdent T
Assertion (A) : Family is unable FfaaeA (A) 318 71 SR faem wrw
to provide care and support to (R) 3T=.
elderly. £ . &
Reason (R) : Family has shrunken 3 (A) : %f@;-['l% STER
‘n size. QUATT HZTETT 3THH :
Select the correct answer from the <rUT (R) : @'@ﬁ PR &M STei!
codes given below : 3R,
Codes : ST YehdishTich! SRIeR o Feret
(A) Both (A) and (R) are true and -
(R) is the correct explanation (A) (A) 3TIfoT (R) Il SeR 3T (01
of (A) (R) ¥ (A) ¥ g TS0 3R
(B) Both (A) and (R) are true but (B) (A) 301 (R) T2l sI&X 3Ted qu
(R) is not the correct explanation (R) ¥ (A) 9 Irg TqEIRU] el
of (A) 3
(C) (A) is true but (R) is false © Wz e T (R) IF Se.
(D) (A) is false but (R) is true (D) (A) IF 3T T (R) e TR
11 [P.T.O.



30.

31.

Match the List I with List II by
choosing the correct answer from the
codes given below :

List I (Books)

(@) Dynamics of Cultural Change
(b) Analysis of Social Change
(c) Africa in Social Change
(d) Asian Drama

List II (Authors)
(@) G. Myrdal
(i) P.C. Lloyd
(ziz) B. Malinowski
(tv) G. Wilson
Codes :

(@ b)) ©© @
A @& @) Gu) (o)
B) ) @ G G
(C) @) G Gv) @
D) @) G@v) @) @
Given below the two statements, one

is labelled as Assertion (A) and the
other as Reason (R) :

Assertion (A) : Maharashtra state
has the largest number of slum
dwellers in India.

Reason (R) : It has the largest
number of urban dwellers.

Select the correct answer from the
codes given below :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

Both (A) and (R) are true but
(R) is not the correct
explanation of (A)

(A) 1s true, but (R) is false
(A) 1s false, but (R) is true

(B)

()
D)

30.

31.
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et 1 9T 11 30 et enfor et feeiesn
Hohdiegd Arg W Faer

At 1 (Y&Teh)
(@) ST A dhoeaial s
(b) FAfEE 3wk AT o<
(c) SThishT 39 TITA o9
(d) T g

RICUN | REGECED)
@) <. faefs
Gi) . ot e
(iii) =Y. HelTeeht
(jv) st faeaq
Hehdich :

(@) ()

(e ()

(A @ @) @) Qo)

B) @ @ @ @)

(C) G) @) Gv) @)

D) Gir) Gv) G) @)

Tt g faum feaell omRd, ™
gfaded (A) HalEel wl%mwwm
(R) Hallgel 7.

PIGLICE] (A) : 9-II{<'II<'IIQ'I EIRERCC
LRTUIM=AT Q’ilchl‘c{l H°|ICI ST Hed] Helllbg
TS TR,

HROT (R) : IHEA Helld S AR
@W\m%

(\

ot feciea SehdienTean 3TER IR
’Wa’r : T
(A) 2R (A) 30T (R) & 3Tk ST1ea 3Tifor

(R) ® (A) 9 Irg T SR
(B) TR (A) i1 (R) ¥ 3Tk TRa

%(R)%(A)%Wm@w
(C) gﬁ%%aa* 3 g (R) & TN

(D) ;ﬁ%%%ﬁmmﬁ(m%w

12



32.

33.

Which Anthropologist has
differentiated between folk
community and urban community ?
(A) Robert Redfield

(B) Radcliffe-Brown

(C) Bronislaw Malinowski

(D) Claude Levi-Strauss

Which concept of Darwin suggests

that certain social characteristics
played key role in the survivability
of groups in the natural environ-
ment ?

(A) Human Ecology
(B) Natural Selection
(C) Human Environment

(D) Existential Dualism

32.

33.
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s S S0 vl WS A S
TS T IV AT
chelell 38 2

(A) T2 Tsfhes
(B) {Efaa® s
(C) wifTeer Hicietht

(D) FAle TRI-TH

ot A = a o N o
SIfd= IV FeheddT Faad i, el
grteier dfvrear=t gfter € Swfife
qIEONd =T AT ST He<aT=l

Bl ?

(A) Het TRERST
(B) “ofif® fae
(C) wHel wferyy

(D) A =<

34. Gidden’s structuration theory, is the 34. TS ST AN aﬁl_: C\%’.TT.H .ET
theory of the relationship between : | 77" S R
fagua s
(A) Structure and Agency )
(A) GT=AT A0 Shaaor
(B) Agency and Structure .
(B) wdqul 0T HL=
(C) Actors and Agency
(C) =d amfor shdqur
(D) Culture and System )
H@él o e
35. India gets maximum share of her D)
GDP from which of the following | 35. R STHeHeTEr=T ShivTee QTR Helld
sectors of economy ? S Fehel BRAT 3cq=1 fHesdl ?
(A) Agriculture (A) ot &5
(B) Industry (B) 3= 97
(C) Service (C) em &=
(D) All share equally (D) ¥d &F FHH FHOTG
13 [P.T.O.



36.

37.

38.

In which of his books Foucault
uses the term ‘gaze’ as a form of

knowledge ?

(A) The Birth of the Clinic
(B) Madness and Civilization
(C) Discipline and Punish
(D) The History of Sexuality

The productive organization of land,

in recent times, does not consist of

(A) Family labour
(B) Jajmani system
(C) Hired labour
(D) Tenancy

Tebhaga movement was mainly

aimed at :
(A) Social reform

(B) Revolutionary transformation of

the whole society
(C) Reduction of land taxes

(D) Fair price for the crops

36.

37.

38.
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ekl ATSAT RVl TATd o [T
YRR TUF ‘Teeret Te’ g 9
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(A) T =9 3w g foraafrn
(B) e I fafeamagem
() fefawi e wiw
(D) T &=t =i Tagaetfeet

o0

SITHAT=AT ScaTfed Teeaaed Afcreshe=a

(A) FHgamied #fh
(B) STSTHMI e
(C) we= sife
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39.

40.

41.

42.

Who was of the opinion that
‘revolutions are locomotives of
history’ ?

(A) E. Kant

(B) K. Marx

(C) G.W.E. Hegel

(D) F. Engels

Which of the following forms is not

an emerging form of family ?
(A) Single parent families
(B) Stem families

(C) Reconstituted families

(D) Childless families
According to whom “The spread of

mass media and mass entertainment
cause the public sphere to become
largely sham” ?

(A) Louis Althusser
(B) Jurgen Habermas
(C) John Thompson
(D) Daniel Learner

Which state has maximum area
under forests ?

(A) Madhya Pradesh
(B) Odisha

(C) Andhra Pradesh
(D) Chhattisgarh
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40.
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TTeTedeh! U™ Ha 3T 3T i Shidl

T sfaedre T O ST 2

(A) 3. HIUE

(B) k. W

(C) . T 3 ¥
D) Th. U™

Eeerdeh! SHeardl IOl YR oA

3T IR ThR AT 2

(A) THd qIA® Fed

(B) T Fd Fed

(C) gifem ed

(D) 3TTATTE ped

“SHYER AR ST S HARSHTAT
el es TIeIeh TN BTl o
MR o faum =+t A ?

(A) TEH AT

(B) ' oA

(C) SF gy

(D) = aR

RV TS TA(feeh S &5hes
e ?

(A) AEAIR
(B) enfewm
(C) STg9e™
(D) BATTS
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43.

44.

45.

Which one of the following is true

about the open-ended questions ?
(A)
(B)
©)

Difficulty in raising an issue
Not easy to get free response

Simple and easy to analyze the

responses

(D)

Fixed structure for respondents

to reply

‘The field of sports is often dominated
by the males’. This shows ............ .

(A) There is connection between

sports and patriarchy

(B) Women are weaker sports-

persons

There is connection between

C)
sports and politics

(D)

Men are better sportspersons

Structural forms as analysed by A.R.
Radcliffe-Brown are .................... .

(A) Abstract forms of social
structure
(B) Concrete forms of social

structure

()

Integrative forms of social

structure

(D)

Functional forms of social

structure
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45.
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G YA STeerden! hio faem

TR AE ?
(A) 939 foamuamesd Jomd A=
(B) e gfqdre fHesfaol steee smd

(C) YfauRer faveismT SvarT 9y o
¥
(D) UfaqEesT=n SauETer fAuifia @

‘FIeIe T TeH e gud STHer]

(A) shieTars T faqe Jr=ama TER
RECEE LS
(B) o wucpad ©arg #Rd

(C) HISIY 30T USTRROT AT el
aTRd

(D) T&9 T 3fush =Ml Warg 3Ted
T. 3IR. (STHA® S AT foweiod shetelt

TEAcAHs ®9 U

(A) IS T

(B) 9HTfSIeh T3=g

(C) mHIfSTeh =™ ThifcHeh &9

(D) ISR S FcHR &9
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46. \éVh?at vl&%af tIr(lid]i)a’s 1rank ;Ii ghe 46. 333%8 gggl_ﬁ f??iﬂwou“qblqch EERIED
ender Related Development Index 7
22)22;85 ’ (A) 125
(B) 130 (B) 130
(©) 131 (C) 131
D) 134 (D) 134
47. Which among the following is a 47, A A S FO 2
dominant caste ? (A) SFRITCT
(A) Vokkaliga (B) ==
(B) Kansara (C) SIS
(C) Banjara (D) HET
(D) Matang 48. =&t I weftd Heg AR I wefie
48. Match List I with List IT and mark IR STred et feereat A e
;}ilse;og;el(;iv agswer from the codes HehdlehTqH q:r:‘gl Mg &l :
' I
List 1 (@) Hohd T TIAR YO
(a) Preparation of code sheet ®) TH IS ';L'-ltﬁtwﬂ o
(b) Retesting the codified data © G e =
(¢) Preparation of code book &) T & ot S
(d) Testing of code book
List II RLEURS
(i) Stage I @ st
(i) Stage II @) st 11
(iii) Stage III (@) stereen 111
(iv) Stage IV () FT&er IV
Codes : Tehdich
(@ ) () () (@ ®) () ()
A @ @ @G Go) A @ @ G Go)
B) Gi) Gv) @) @) B) G @) @) @
(C©) Guv) @) G @) (©) Gv) @) @) @
D) i) @) @ @) (D) @) Gv) @ @)
17 [P.T.O.



49.

50.

51.

52.

53.

‘McDonaldization’ term is coined

by :

(A) Giddens

(B) Sassen

(C) Ritzer

(D) Coser

Habitus is not .........ccccuvveeee .
(A) Structured

(B) Durable

(C) Permanent

(D) Inculcated

In which year was ‘The Protection
of Women from Domestic Violence
Act’ implemented in India ?

(A) 2003
(B) 2005
(C) 2006
(D) 2011

Who popularized the phrase
“Tragedy of Commons” ?

(A) Garret Hardin
(B) Thomas Kuhn
(C) Jean Baudrillard

(D) John Thompson

Which one of the following social
groups is not experiencing the state
of social exclusion ?

(A) Indigenous people
(B) The poor

(C) Gated communities
(D) The homeless

49.

50.

51.

52.

53.
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‘HepSeemeed’ & |l
It fefor <het.

(A) fired

(B) H@&A
(C) fEgr
(D) e
HEE
(A) Hfa

(B) fe=rss

(C) =rEH

(D) HATER BHeIel

WA Sh1oreenl ool ‘ ehigforeh feHm=margT
HfgelT HL&T0 HIoFTee ST

TYASSIET Sheft et ?
(A) 2003
(B) 2005
(C) 2006
(D) 2011

‘ISl ST I B AEER i
THR{T ohell ?

(A) e =feq

(B) o9y hed

(C) S siffgen

(D) S g

ETCACTIehT hTUTAT HTHITSTh THE AT

afstadr eHyad & ?
(A) qaferst <
(B) & wreh

(C) @-Efera wg
(D) =R
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54.

55.

56.

According to Weber which of the
following is the type of rational-legal
Authority ?

(A) Feudalism

(B) Bureaucracy

(C) Autocracy

(D) Slavery

Structured interview is used for :
(A) Life History

(B) Large Scale Data Collection
(C) Analysis of Images

(D) Creation of new theory and
method

Which one of the following is not a
characteristic of survey ?

(A) It is based on a representative
sample of a population.

(B) It is based on data directly

sought from the respondents.

(®)

It is concerned with more
general and abstract problems.

(D) It covers large number of
respondents compared with

other methods

54.

55.

56.
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A=A Hd dlfcheh SIS STeeRIr=N
ETATTdeh! ShIOAT Th 378 2

(A) TR
(B) reRuemEl
(C) Tieper &l
(D) YRR

o GATer & heTHIe! SUANT STt

S ?

(A) Sfe gfae™

(B) HISAT YHING Hifgdrs Tehotd

(C) wfqmra fagersm

(D) - fagra omfor ggdrer T

ETATAdeh! HIvTd Fd &T0me afyTeey

T ?

(A) AHABI=AT TAHTES TR
MR 3T

(B) wfaurceshihe woael fHesfaciean
mfediel SMRelel 3T

(C) FEHIHRIT ST ST AT Harea
A

(D) SR USHAIRN ol hidl Higdl H&A

GfIGeR M |EEA *d

57. Which of the following is the least 57. W IV <91 T FHHAT farehfad
developed welfare state ? HEAURR] 5T 38 ?
(A) Sweden (A) e
(B) USA (B) 4TET
(C) Finland (C) friaie
(D) France (D)
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58.

59.

60.

61.

Who coined the term ‘mores’ to refer
to norms that are widely observed
and have great moral significance ?

(A) Pierre Bourdieu
(B) W.G. Sumner
(C) C.H. Cooley
(D) Max Weber

The Supreme Court of India
invalidated a part of Section 377 of
the IPC decriminalizing ?

(A) Attempt to suicide
(B) Prostitution

(C) Homosexuality
(D) Human trafficking

‘Interpretivism’ is the position
11 o SR .

(A) Epistemological
(B) Theoretical
(C) Ontological
(D) Methodological

Which of the following statements
about honour Kkillings is not
correct ?

(A)
(B)
()

Are different from dowry deaths
Are not recognized by law

Are mostly directed against
women

(D) Occurs in South Asian countries

only

58.

59.

60.

61.

JUN - 14220/I1—A

qreaT GHOMER. Jafeld  STHu=an  ATT0T
Heare! Aifdde Jrean Tevld ‘ eehrdl’
1 G fAfHdr o el ?

A) TR e

(B) €c=F. Sil. HF

(C) ®. Ta. Fos

(D) HaT IR

YRAr Haied I IR <8
Hfgea 377 T AATET STE 3TaH
....................... rolurﬁlllJ:\l%{Ul q’)("| ?

(A) AT YT
(B) S¥A1 HIERN
(C) FHAfTERAT

(D) HFEl TR

(D) TS

AR ferfermen Heulq Erefiaiis! SIvq
fau TR T ?

(A) ST IS ATTes 3T

(B) Gl H AR

(C) dgds da foraifaes o&d
(D) ohelcs SI&TOT AR AIMHEA *Sd

20



62.

63.

64.

Two statements are given, one is
labelled as Assertion (A) and other
as Reason (R) :

Assertion (A) : Reservations in
jobs help the SC, ST to improve their
situation.

Reason (R) : In a democracy equity
is a must to ensure equality.

Select the correct answer from the
codes given below :

(A) Both (A) and (R) are correct and
R is the correct explanation
of A

(B) Both (A) and (R) are correct but
(R) is not the correct explanation

of (A)
(C) (A) is true, but (R) is false
(D) A is false but (R) is true

Which of the following books is not
written by K. Mannheim ?

(A) Diagnosis of Our Time

(B) Structures of Thinking

(C) The Sociology of Knowledge
(D) Conservatism

According to Durkheim what is the
subject matter of Sociology ?

(A) Social Facts

(B) Social Actions
(C) Social Systems
(D) Social Patterns

JUN - 14220/1I—A

62. @l g faum feeit omed. TH R

63.

Jfaued (A) ST TR e &R (R).

gfaaregd (A) : TeRdHHd AR
STYfaa  STdl- S @t it
GYRUAEE Fed BN

HIUT (R) : AHIMEHES THECET @I

SIS G aeg SAEvge 3R
WA HohdishTueh! aIe] 3l ereT

(A) (A) 3T (R) St IR 3Ted 01
(R) & (A) ¥ g TR0 3R,

(B) (A) =71 (R) St SRIeR 3Ted I
(R) ¥ (A) 9 Irg TR0 TRl

(C) (A) TR ¢ g (R) I T2
D) (A) I R g (R) T 3R
WEATATh! IV J&Ieh oh. H8EH T
fafeeft &t ?

(A) SEEAIGY Sfh SR Y

(B) wa=d A fafeh

(C) <t wif¥retarst e fers

(D) Hgeeieg™

64. TG AT I FHISIETE] Ao

% A ?

(A) 9IS qed
(B) HmHTTSeR fham
(C) wHIfSIeh e
(D) IS a4
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65.

66.

67.

Which of the following is not true
about the sample units ?

(A)

Sample units must be chosen in
an objective manner

(B) They must be independent of

each other

(C) Once selected, they cannot be

discarded

(D) They must be interchangeable

Who among the following propounded
the Alliance Theory ?

(A) AR. Brown

(B) Claude Levi Strauss
(C) B. Malinowski

(D) F. Meyer

Which one of the following
statements is not correct ?

(A) Ethnomethodology examines
the ‘folk’ methods

(B) Ethnomethodology challenges
existing concept of objective

reality

(C) Ethnomethodology uses
interpretative approach rather

than normative approach

(D) Ethnomethodology emphasizes
on study of macro structures in

society

65.

66.

67.
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THAT Theh OOt TTeeTyeh! Shivw faem

U AT ?

(A) SIS IgEdH THAT Theh o

Tifgsid
(B) U UmiheR STaced THmed

(C) Thel FasHH® @ | & 4

(D) = TEcEed hidl STl ufest
I fagia wefictisht ol "igar ?

(A) T 3R. 9T

(B) FifE iRl-RS4

(C) it. HfaTeg&eh!
(D) TH. TR

Tl HIvd faue aiex @ ?

(A)

A G ' AR T ILrar

.

(B) SRUSHCIRIE SEfTss drderd=

Iaq Heheqddl 38 <.

(C) eishuceErdrees  faaarcas

gitedhMIasT STaanefeh e
IR .

(D) ATHISEATIE FHTSTATA THY

T AT Hed <4l

22



68.

69.

70.

71.

National policy on older persons was
announced in India in which year ?

(A) 1996
(B) 1997
(C) 1999
(D) 2001

Who understands actions in terms
of the subjectively interpretative
meaning of Social Action ?

(A) E. Durkheim
(B) V. Pareto
(C) T. Parsons
(D) M. Weber

“The process by which actors fail to
recognise that it is their labour that
gives the commodities their value”,
is termed by Marx as :

(A) Fetishism
(B) Emancipation
(C) Socialism
(D) Contradiction

The process of inculcation of

norms, values and culture is

known as ......ccceevveeeneeen. .
(A) Secularization

(B) Sanskritization

(C) Socialization

(D) Westernization

68.

69.

70.

71.
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FHIUT T qRA TIER AR TR
0 SRR e ?

(A) 1996
(B) 1997
(C) 1999
(D) 2001

o o ) o
HIH{ISIen epdl=l 31 AfFASS SAATTHS

U FIHISTH Fell FHST SUARTST Shioft

e ?

(A) 3. Fem

(B) =& T

(C) & =

(D) . 9

"1 gfshaes Shdl Tl S WA

ST ST @ ufeRden
...................... o TRV

(A) =&

(B) e

(C) FHSER

(D) ferremm

THIUh, Hod ST TEhdT AR fie-

JUIT=A] quqqc"” .....................

Seserel ST,

(A) TreeiemTo
(B) HEHTRL
(C) HHIFSTehIehul
(D) AT TR
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72.

73.

74.

75.

Which one of the following measures
of central tendency is a positional
average ?

(A) Mean

(B) Median

(C) Mode

(D) Both (A) and (B)

K. Mannheim distinguishes between
two types of ideologies. Which are
these two ideologies ?

(A) Total-conception and Partial-
conception

(B) Democratic and Authoritarian
(C) Egalitarian and Non-egalitarian
(D) Radical and Conservative

Who wrote about ‘Death of the
Social’ ?

(A) Cooper

(B) Foucault
(C) Merton

(D) Baudrillard

Who argues that myths can be a type
of speech through which structural
principles could be discovered ?

(A) A.R. Radcliffe-Brown
(B) P. Bourdieu

(C) M. Foucault

(D) C. Levi-Strauss

72.
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74.

75.
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EeTeTdeh! hI0d AT § hald Y]
MY T 3 2

(A) 5=

(B) HeATh

(C) wigaTh

D) (A) & (B) Tl

oh. HABEH T Y=l fommyoneiidid
Tar=ran <vifaa. <n foamuonett o ?

(A) T9Y Hehodd ST ST Hehodd
(B) TlehTRIaTGl 3fuT Selehtremat

(C) GHareret 3Tfor forsrdrene!
(D) STeTe ST ATt

‘BY fw T WyTa' Arfasd
fafear ?

(A) W

(B) Teht

(C) =&

(D) siffg

fHern €1 Tk Rl ATUft 3T STeRd ki
ST IS SaATs aearal oY
SIqeT SIS Iehdl 316 FTques hivil ohel

e ?
(A) T AR. (ESfaa®w Fq=A
(B) .

(C) TH. Hen!
(D) . W=

N

cn V11
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76. Match the List I with List IT and | 76. =<1 aﬂfﬂTtrlfrII mﬁa bldehluql SISl
select the correct answer from the NEELC] Tl feeiean HOhCIIGhIC,L"I S1ED)
codes given below : Tt fHerer -

List I (Thinkers) et 1 (fa=maa)
(@) A. Radcliffe-Brown (@) T E3F S
(b) B. Malinowski (b) o HelHIeh!

(¢) T. Parsons (c) ?ﬁ qﬁ:\q
(d) R. Merton (d)

List II (Perspectives) ‘é:rla"T II (?;@T:lﬁ?)
(1) Cultural Functionalism 1) H|{~ﬂq|qqq PEABEIH
(2) Analytical Functionalism (2) favATUcHS: YRRl
(3) Empirical Functionalism (3) mmﬁ%ﬁ%a 1;|T:|?|'€1°T>|‘|‘q’
(4) Structural Functionalism (4) FEATHS YRR
Codes : Hehdich :

(@ ®) () (@ (@ b)) (©© @@
A 2 B3 1 @ A 2 3 @O @
B S @ @O @) B) B @ Q) @
< @ @O 2 3 © @ 1 2 O
D @ @O 3 @) D 4 @O 3 @

77. Match the List-I with the List-Il and | 77. @reft feaat ¥ I o1for II Sfesat
select the correct answer from the 3T feTet Hohdleh A& o 3Tk 3
codes given below : o .

List I el 1
(Sub-systems) (3U-Ugq)
(@) Law (@) ST
(b) Family ®) &H
(c) Economy (c)
(d) Polity (d) TIHRHR
List II IJrer 11
(Functions) (TT)
(1) Adaptation (1) ®I
(2) Goal attainment (2) <8I YTl
(3) Integration (3) TehihUl
(4) Latency (4) T
Codes : [ehdich :

(@ b)) (@ (@ (@ b)) (@ @
A 2 @O @ 3 A 2 1 @ O
B & @ @ @ B B @ @ @
Cc 3 @ QO @ < 3 @ O @
D) @ B 1) Q) D @ 3 @O @
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78.

79.

80.

81.

82.

“Glass ceiling” is the term used in
the context of :

(A) Occupational gender segregation
(B) Women’s promotion

(C) Job insecurity

(D) Emotional labour

Respondent’s name is changed
but location is not changed. This
suggests .....ocevueeeennnn. .

(A) Breach of faith

(B) Breach of morality
(C) Breach of anonymity
(D) Breach of promise

Which one of the following is not a
part of post-modernism ?

(A) Progress, universalism
(B) Chaos, difference

(C) Fragmentation

(D) Representation

Fordist organization is characterized
by :

(A) Standardization of commodities
(B) Decentralization of labour

(C) Flexibility

(D) Tailor-made goods

Irawati Karve has divided kinship
organization into ..................... .

(A) Two zones
(B) Three zones
(C) Four zones

(D) Five zones

78.

79.

80.

81.

82.
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‘R wd B THedl ETATAdE!
I Hewid aralell TR,

(A) TATIETER eEmE fayeRiteso
(B) o= ugi=d

(C) =l STgRfarad

(D) Wk oM

a1 Seee TR, W, fawhr
AN L. § .

(A) fovamEren e s

(B) fderden qe1 o

(C) SHIfHehden del S0

(D) FFAHT

EeeTyeh! ShIv ST eRIaRaTETET S
a2

(A) W, WHEARAER

(B) Tiyes, ¥

(C)

(D) gfasao

(A) ITfed a&q= JHTOR]
(B) = forehgientu
(C) <aferehd

(D) goeRgehH a&]
Sl Shd AT STAESY TEEA™

oa fausH el eme ?
(A) 9 &
(B) @ &
(C) =R &
(D) 9= &

o (a)

[endl
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83.

84.

85.

Given below are two statements, one
is labelled as Assertion (A) and other
as Reason (R) :

Assertion (A) : Ambient air quality
of Delhi is deteriorating day by day.

Reason (R) : Stubble burning in
Panjab and Haryana affects air
quality in Delhi.

Select the correct answer from the
codes given below :
Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation
of (A)

Both (A) and (R) are correct
but (R) is not the correct
explanation of (A)

(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

Which of the following methods has
been used by C. Geertz ?

(B)

(A) Participant observation
(B) Systematic observation
(C) Thick description

(D) Systematic description

H. Garfinkel’s work is associated
with .o, )

(A) Conversation analysis
(B) Content analysis
(C) Discursive analysis

(D) Discourse analysis

83.

84.

85.
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et g faum foerel smea, T wfaues
(A) oo TE HRO (R) FaEa 3R,

yfaures (A) : Teadfeaq foee=a
SRS gorel ura fehte Bid 3112

HIOT (R) : Ooe f1for sREmomaes
STevdTd AU =T T feaeft=an gae)
RO HLarn.

el faeiedn Hehdiehr=al SMER ST
EECEIEE

(A) T (A) =TT (R) © SIeR 3T ST
R) ¥ (A) ¥ e &R 3T

(B) =T (A) =701 (R) § SRIsR 371,
g (R) ¥ (A) ¥ s Sl Al

(C) (A) § IR 3% (R) § Iehlal 3TR

(D) (A) ¥ FHME 3T g (R) § SRR
3

1. TS A WICTeTush! ShIoe TgE=T
R Hell M ?

(A) Feurfl fiero
(B) geHaftea e
(C) & 9

(D) geHafega avid

TE. TRheS 99 S

(A) Freror fogerson
(B) R fageio
(C) w==st fawermm
(D) S fagersm
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86.

87.

88.

Gandhi’s notion of Antyodaya
refers to :

(A)
(B)
()
D)

Welfarism
Assimilation of Harijan
Inclusion of Harijan

Rights to the bottommost
section

“Neoliberalism and rise of neo-
fundamentalist movements are
two sides of the same coin.” Who said
it ?

(A) M. Castells

(B) D. Harvey

(C) S. Sassen

(D) P. Bourdieu

Match List I with List II and select
the correct answer from the codes
given below :

List I (Authors)
M. Foucault
A. Giddens
J. Habermas
P. Bourdieu

List II (Concepts)
Duality of structure

(@)
)
(c)
(d)

1)
(2)
3)
(4) Ideal-speech situation
Codes :

(@)
(A (1)
(B) (4)
©) (2
D) 3)

Practice
Episteme

(b)
(2)
3)
(4)
(1

(c)
3)
2)
3)
4)

(d)
4)
(1)
(1)
(2)

87.
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(A) AhHHER

(B) BfReH Tote

(C) BRemr= ArtefteRo

(D) 9 e S &k <ul

TISGRHATSE o TFereTdcerag] dooqoéitu
3CT B WhTa AU oIS 3Ted,

g IV WA ?
(A) TH. HRe™
(B) €. =&t

(C) wq. 9&A

(D) 9. s
AT 1 A0 AT I Sesan ST @t

feciedn Hehdieh™Y ard W eel -

et 1 (Eh)

(@)
)
(c)
d)

£

Teh!
fireg
TeITHTH
E

=

Tt IT (Hered)
TS a0
FITR
(3) Ty
(4) eyl sTooTfEerd
Hehdiah :
(a)
(A) (D
(B) (4)
©) (2)
D) 3)

(1)
(2)

(b)
(2)
3)
(4)
(1)

(c)
3)
2)
3)
4)

(d)
(4)
(1)
(1)
(2)
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89. “Episteme” is ......ccceeeeeunnnne. 89. ‘ufr=H" wWuN
(&) Socio-historical O;n;gggg b | () won s T S
discourse ENGER TS Gl S CARU IR
(B) Analysis of archeological forms EL
(C) Unidimensional understanding (B) @R SR forgersm
of pre-existing codes ; s f
(D) Framework of knowledge that © 113? o
shapes discourse and helps in (D) S fa9™ STehed BIvaTel Hed
specific understanding of the FHLO 277 S=ifayaTen 2R
world . I A HeRe
90. Which of the following is a A m f e e
characteristic of qualitative 90. WTdleTYh] ‘\LU”CH‘* dsdlid AR5
methods ? FOY ?
(A) Emphasis on the exploration of
meaning (A) g IMYTGER W
(B) Emphasis on the precision of )
data (B) deAT=AT STshder W
(C) Emphasis on the exploration of
generalized central tendencies (C) |r=iihd HEAYT ST
(D) Emphasis on researcher’s
objectivity (D) e ST R
91. Confidentiality does not 91. m 1—‘5'01@[ .............................. % :”%'T
MEeAN ....ccvvvveeeeannnns .
(A) Changing names (A) T =T
(B) Anonymity (B) 3Tk
(C) Protecting identity of . .
respondants (C) wfeei= ez wfara oot
(D) Funders will have access to (D) YrEISTRe fade g th?,l\é-rh
respondants 92. TAH A=A ERNIMNGERIE]
92. The farmers’ movements by the ' - o;m - qlwqﬂﬂ :%wala?lr
middle peasantry are mainly :TI; g
concerned with .................... A .
(A) Redistribution of land (A) “"'H*'t'oﬂ*’”dl"
(B) Equal share to sharecropers (B) TEh= HHMA e
(C) Fair price for crops (C) fTuemren arset fohma
(D) Getting rid of the middlemen (D) AEIEy T HLO
29 [P.T.O.



93.

94.

95.

96.

When was the ‘National Cyber
Security Policy’ enacted in India ?

(A) 2007

(B) 2009

(C) 2011

(D) 2013

Ethnography implies :

(A) People are meaning makers
(B) Objective study

(C) Research people

(D) Proximity of researcher

Which was the report published by
the ‘Club of Rome’ in the context of
rise of green movements public
concern about environmental
problems ?

(A) Our Common Future
(B) The Limits to Growth
(C) Sustainable Development
(D) Green Peace

Which among the following is not
among the core objectives of India’s
Forest Rights Act, 2006 ?

(A)

Recognition of community forest
rights

(B)

Securing livelihood of the forest
community

(C) Empowerment of local self

government

(D) Empowerment of tribals

93.

94.

95.

96.
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icATEl’ Shegl

oon

‘Y HEeR "R
S et ?

(A) 2007
(B) 2009
(C) 2011
(D) 2013

(A) @ 1A= A
(B) IS 3183

(C) WreReR HeMEA

(D) wEiEeRT= Fered

qHfCu=a GeATTasRt/eieh  SforerqA
3Ty e (fe@) WH sTeiem=n

Tedld Fdd 3ME YHA YR sholall
AT hIUd ?

(A) TR AT T
(B) T foieq 2 Wy
(C) TRAad SH/ATHS
(D) W= o

Teereh! hIvAT He] TRAMT o9 8

FHIT 2006 = H&A IfEweqush! TG ?
(A) HHRIHE 1 SRR SR SOl
(B) o UM SYSifachet Tt <01
(C) TNfTeh @UsT TEAM Fedehel Qul
(D) STfCaTd FeIciehtol 0]
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97.

98.

99.

100.

For which one of sampling types
lottery method and Random
numbers are used for selecting the
sample ?

(A) Cluster sampling

(B) Multi-phase sampling
(C) Quota sampling

(D) Simple random sampling

Which of the following is not the
characteristic of informal economy ?

(A) Flexibility

(B) Casualization

(C) Homebased work

(D) Collective bargaining

Which of the following is not

analyzed in post-modernist
research ?

(A) Chaos

(B) Gaps and silences

(C) Continuity

(D) Fragmentation

In an unstructured interview
....................... also need to be
interpreted.

(A) Photographs

(B) Reports

(C) Silences and pauses

(D) Scales

97.

98.

99.

100.

JUN - 14220/1I—A

el ggElt 3o Argfeseh A1 T Theh
FMas=a TF Ugdl TIeiadeh! v

JY1 e ggdmed 3ed 2
(A) Yorept frere gt
(B) dg&a fae dgdt

(C) kel frae ggd

(D) Wes Aok I e g5

EATeTdeh] hIUd SR AT

NSRS
(A) Tafeshal
(B) SR
(C) =RagFe HTH

(D) Irfesh Higarsi

sMYfRIRac] HeNeAT  Seierdeht
HITe favero ol Shel WA ATE 2

(A) MY
(B) 3R & WA
(C) Ha
(D)

SEad  Jermerdid
QElld 21d .

(A) BrEfes
(B) STgdet
(C) e for o
(D) STFHTIT
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ROUGH WORK
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